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Precedence Operator Description Associativity
++ -- Suffix/postfix increment and decrement Left-to-right
() Function call
- [1 Array subscripting
Structure and union member access
-> Structure and union member access through pointer
(type){1ist} Compound literal(Cs9)
(Q -- ) Prefix increment and decrement Right-to-left
+ - Unary plus and minus
I~ Logical NOT and bitwise NOT
(type) Type cast
2 * Indirection (dereference)
Address-of
sizeof Size-oflnote 1]
_Alignof Alignment requirement(C11)

http://en.cppreference.com/w/c/language/operator_precedence




Pointers with ++ and —— (1)
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Pointers with ++ and —— (2)

x=(*p) ++;

@x = ++ (* p); @ ++*p;

x=(*p)——; x=-—(*p); x=-—-—*p;
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Pre and Post Increment / Decrement

vV = *p++;

vV =*p (access first)
p=p+1 (increment later) (pointer increment)

v = (*p)++;

v ="*p (access first)
*p = *p+1 (increment later) (value increment)

vV = *++4p;
p=p+1l (increment first) (pointer increment)
v =*p (access later)

vV = ++*p;

*p = *p+1 (increment first) (value increment)
v =*p (access later)

Operators 7 o ot
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#include <stdio.h>

void pr(int *p, int x, char *s) {
printf("p= %p *p= %d x= %d %s\n", p,

int main(void) {

H

int A[]
int *p;
int X

printf("&A[0]= %p
printf("&A[1]= %p
printf("&A[2]= %p
printf("&A[3]= %p

printf("
p = A+1;

printf("
p= A+1;
p= A+l;

printf ("
p= A+l;
p= A+l;

printf ("
p= A+1,;
p= A+l;

printf("
p= A+l;
p= A+1;

0;

= {111, 222, 333, 444},

A[O]= %d \n", &A[O], A[O]
All]l= %d \n", &A[1], A[1]
Al[2]= %d \n", &A[2], A[2]
A[3]= %d \n", &A[3], A[3]

......................... \n");
prip, X, "x= *p++");

prip, X,
X = *p++;
X = *p--;
X = *+4p;
X = *--p;
X = (*p)++;
X = (*p)--;
X = ++*p;
X = --*p;

prip, X, "x= *p-

*pD, X, S);

-");




S&A[O]= Ox7ffch8b20920
&A[1]= Ox7ffcb8b20924
&A[2]= Ox7ffcb8b20928
&A[3]= Ox7Tfcb8b2092c

Ox7ffcb8b20928
Ox7ffcb8b20920

Ox7ffcb8b20928
Ox7ffcb8b20920

Ox7ffcb8b20924
Ox7ffcb8b20924

Ox7ffcb8b20924
Ox7ffcb8b20924




#include <stdio.h>
#include <string.h>

int main(void) {
char S[30] = "AAA BBB CCC";
char *p, *q;
int i;

printf("sizeof(S)= %ld \n", sizeof(S));
printf("strlen(S)= %ld \n", strlen(S));

/1177 Method 1 /////7777777777777777777777777777
///// S = "GGG HHH"; // Not Working

/1117 Method 2 //////171111117111111111111111111
p = "GGG HHH";

for (i=0; i<=strlen(p); ++1i) S[i] = p[i];
printf("S= %s\n", S);

/1117 Method 3 //////17111111771111117111111171]
p = "GGG HHH";

for (i=0; i<=strlen(p); ++1) *(S+i) = *(p+i);
printf("S= %s\n", S);

///// Method 4 ///////1/17/17/77/17/777/77/77/7777
p = "GGG HHH";

q=>5;

while (*p) *q++ = *p++; *q = 0;

printf("S= %s\n", S);

///// Method 5 ///////7/17/171771/77777/777/7777777
p = "GGG HHH";

q=>5;

for (i=0; i<=strlen(p); ++1i) *q++ = *p++;
printf("S= %s\n", S);

///// Method 6 //////////17//17/17//17/77/77/77/777/
///// while (*p) *S++ = *p++; // Not Working

///// Method 7 /////7777/7/777777771777777777777777
strcpy(S, "GGG HHH");
printf("S= %s\n", S);




#include <stdio.h>
#include <string.h>
#define SIZE 30

int main(void) {
char S[30];
char T[30];

char *p;
int 1i;
int C[10];

printf("Hello, world!\n");
sprintf(S, "Hello, world!\n");

printf("S= %s\n", S);

p=s; i=0;
while (*p)
printf("S[%d]= %c\n", i++, *(p++));

strcpy(s, "");

for (i=0; i<10; ++1) {
sprintf(T, " %d", 1);
strcat(s, T);

}

printf("s= %s\n", s);

sscanf (s, "%d%d%d%d%d%d%d%sd%d%d",
C+0,C+1,C+2,C+3,C+4,C+5,C+6,C+7,C+8,C+9) ;

for (i=0; i<10; ++i) {
printf("C[%d] = %d \n", i, C[i]);
}
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#include <stdio.h>
#include <string.h>
#include <ctype.h>

#define SIZE 30

int main(void) {
char S[30];
char TI[30];
char *p;
int il-
int C[10];

printf("Hello, world!\n");
sprintf(S, "Hello, world!\n");

printf("S= %s\n", S);

p=S; i=0;
while (*p)
printf("S[%sd]= %c\n", i++, *(p++));

strcpy(S, "");

for (i=0; i<10; ++1) {
sprintf(T, " %d", 1i);
strcat(S, T);

}

printf("S= %s\n", S);

printf("------------~------------ \n");
p= S; i= 0;
while (*p) {
sscanf(p, "%d", C+i++);
while (isspace(*p)) p++;
while (isdigit(*p)) p++;
}
printf("\n");

for (i=0; i<10; ++i) {
printf("C[%d] = %d \n", i, C[i]);
}




p= S; i= 0;
while (*p) {

while (isspace(*p)) p++;

7
while (isdigit(*p)) p++; 5\“"\\'

}
printf(“\n");

sscanf(p, "%d", C+i++); $\(-/“( ﬂwyxf"s

=( O _LUB1LDVI6 VS

Ct vxt




strchr()

#include <stdio.h>
#include <string.h>

int main(void) {

// 01234567890123 // 14 char's + 1 null
char *s = "abcdefghigklgn";

char *p; %

char *q; T T

int i; [st last

int len;

printf("s= %s \n", s);

p= strchr(s, (g);
g= strrchr(s, )- YeVense

printf("s= %s \n", s);
printf("p= %s \n", p);
printf("g= %s \n", q);

printf("strlen(s)= %ld \n", strlen(s));
len = strlen(s);

(s + 1)
(s + 1)

// sl[i]
// &s[i]

for (1=0; i<len; ++1)
printf("s[%2d]= %c s+%2d= %p \n", i, s[i], 1,

printf("s= %p \n", s);
printf("p= %p \n", p);
printf("g= %p \n", q);
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strpbrk()

#include <stdio.h>
#include <string.h>

int main(void) {

// 01234567890123 // 14 char's + 1 null
char *s = "abcdefghigklgn";

char *p; /[\ /]VI‘T]* T

char *q;

L e ®

int len;

Gngle A%k

printf("s= %s \n", s);

LN

p= strchr(s, Vg' )\ // a char - first occ

q= strrchr(s, \'a'), // a char - last occ

r¥ strpbrk(s,("bghi");| // a set of char's
(% ( exs

—

printf("s= %s \n",
printf("p= %s \n",
printf("qg= %s \n",
printf("r= %s \n",

printf("strlen(s)=
len = strlen(s);

//  s[il]
// &s[1i]

*(s + 1)
(s + 1)

\ " et O:S— (,MYU*
);
;); cqiﬁi!iﬁigé"

q);
r);

sld \n", strlen(s));

for (i=0; i<len; ++1)
printf("s[%2d]= %c s+%2d= %p \n", 1, s[i], 1, s+i1);

printf("s= %p \n",
printf("p= %p \n",
printf("g= %p \n",
printf(“r= %p \n",

S);
p);

q);
r);
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strspn()

#include <stdio.h>
#include <string.h>

int main(void) { C: complementwwy

char *sl = "aaaalllla22a3jj"; 1%
char *s2 = "1234567a22a3jj”;! ot Nﬁ;p?
long ml, "‘Zéy,w g(wﬂ y&‘%{v‘a Ji

= . X (.o“t;‘g \
// sl = "maaalllla22a3jj" " L
printf("sl= %s \n", sl); 5§ oo

/ ~n°

ml= strspn(sl, "1234567890"); |/ -> 0

m2= strespn(sl, "1234567890"»1// aaaa --> 4

printf("strspn(sl, \"1234567890\")

printf("strcspn(sl, \"1234567890\")
wmber S?O‘M

'
// S2 = "Ezllllla22a3jj";

printf("s2= %s \n", s2);

%Sld \n", ml);
%Sld \n", m2);

ml= strspn(s2, "1234567890"); |// 1234567 -> 7
m2= strespn(s2, "1234567890");]|// --> 0
printf("strspn(s2, \"1234567890\") = %ld \n", ml);
printf("strcspn(s2, \"1234567890\") = %ld \n", m2);




sl= aaaalllla22a3jj

strspn(sl, "1234567890")

strcspn(sl, "1234567890")

s2= 1234567a22a3jj

strspn(s2, "

strcspn(s2, "1234567890")




strstr()

#include <stdio.h>
#include <string.h>

int main(void) {

// 01234567890123 // 14 char's + 1 null

char *s = ”abcdefghlgkl n";
char *p;
char *q;

char *r; f Y qY

int len;
int i;

p= strstr(s, '
q= strstr(s, "gklg
r= strstr(s, “fg 1"

printf("s= %s \n", s);
printf("p= %s \n", p);
printf("g= %s \n", q);
printf("r= %s \n", r);

len = strlen(s);

for (i=0; i<len; ++1i)
printf("s[%2d]= %c s+%2d= %p \n", 1, s[i], 1, s+i);

printf(“s= %p \n", s);
printf("p= %p \n", p);
printf("g= %p \n", q);
printf("r= %p \n", r);
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#include <stdio.h>
#include <string.h>

void pr_array(char *s, int len) {
static int n = 1;

int i;
printf("---%d-------------c-u---- \n", n++);
for (i=0; i<len; ++1) {

printf("s[%2d]= %1c %X ", 1, s[i], s[il]);

printf("s+%2d= %p \n", 1, s+i);
}
printf("\n");

int main(void) {

char s[] = "2017-11-07-11-22-33";
char *p;

int len = strlen(s);

lp= strtok(d, " -/");
printf("p= %s \n", p);
pr array(s, len);

lp= strtok(ﬂ;;L, "-/");]
prin p= %S \n", p);
pr _array(s, len);

lp= strtok(QUL), " -/");]

printf("p= %s \n", p);
pr _array(s, len);
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Ox7ffeb8f9bach

Ox7ffeb8f9bacl
s+ 2= Ox7ffeb8f9bac2

s+ 3= Ox7ffeb8f9bac3
s+ 4= Ox7ffeb8f9bac4

s+ 5= Ox7ffeb8f9bach
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s+18= Ox7ffeb8f9bad2
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